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Note : There are three sections A, B and C in the paper.

(i) DT T 39T GE 1 % T 10 977 % IR Gg | FF YT T HF HT 8 TT
T} 10 Y77 FEGIAY JHR F T B E |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) FFH A F 8 gvat 7 @ 5 6 Jo & IR ST | §% F9H 3 37 B 8 T
ST 5 STE/50 I H IR GorT |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within § lines/50 words.

(iv) @l d 6 go1 4 8 55 4 v & oK ST | IAF ¥ 8 37k FT 8 TF
577 15 &3/150 vzl 7 IR g /

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

() T A F T T % HHAR G a7 5 Bl |

Solve all the questions of a section consecutively together.

(i) 2 e e 8 1 TR 7 et e R |

Only English version is valid in case of difference in both the languages.
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Which of the following relation is stated by Hooke's Law ?
(a) Stress is directly proportional to strain.
(b) Stress is inversely proportional to strain.
(c) Stress is directly proportional to square of strain.

(d) Stress is inversely proportional to square of strain.

(i) B AT TR T sebT HATEYT H1 A Rl T B 2

(a) 3ftremam (b) A

© = (d) B TE

What is the bending moment at end supports of a simply supported beam ?
(a) Maximum (b) Minimum

(c) Zero (d) None of these

(iif) T ST U o el R A foreg R 1 R 4 e s 3t Seaet B0 o

@ ¥ RRw (b) 3mg R w

(©) HREW (@ HeRg™

A cantilever beam subjected to point load at its free end, the maximum bending
moment develops atthe  of the beam.

(a) Freeend (b) Fixed end

(c) Centre (d) Point of inflection

(iv) e 1Y W g7 I ST 2 -

(a) 3Ry (b) =am
© I3 @ f=&r
At the neutral axis, bending stress is

(a) maximum (b) minimum

(c) zero (d) constant
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(v) TG I fohEeH g R ?

(2) T ] TS HEH B
(b) ST ATV T HIE &G U

(¢) HIC ST HI TASAT STV H
(d)y o Frean =1 wr S T
The slenderness ratio is the ratio of
(a) Length of column to least radius of gyration
(b) Moment of inertia to area of cross-section

(¢) Area of cross-section to moment of inertia

(d) Least radius of gyration to length of the column

(vi) 3@EE T (T/J = GO/L = U/R) & 31K ‘G’ Tohg ATaTeh 1 gl @ ?

(a) TRl (b)y HugH

(c) & (d) AT

In the relation (T/J = GO/L = 1/R), the letter ‘G’ denotes modulusof
(a) elasticity (b) Plasticity

(¢) Rigidity (d) Resilience

(vil) TTH % FIIEY HIE % g T Wfcreret 2am 3
(@ A

(© ()3 (b) I
d) T8 HIE A

Stress in the cross-section of a shaft at the centre is
(a) zero

(b) maximum

(¢) Both (a)and (b)

(d) None of the above
P.T.O.
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(viii) Tefeeli % e 3 3w il % TR =1 39 Bl

(ix)

() RfEa s (b)
(c) =g d) ==

What is the ratio of volume of voids and volume of soil solids ?

(a) Void ratio (b) Porosity
(¢) Saturation (d) Density
epfak fmfor ammaft 2

(@ %= (b) <EeH
© = @ frd
Natural construction material is

(a) Bricks (b) Tiles
(c) . Lime (d) Aggregate

(x) o armft 6 w9 | $Y 3R itenfie Fe 6 ravaska g 8

(a) OTifRfoeht T T &Te T o forg
(b) TBfoes TaTe] % Hiam & forg

(©) IguU ! %A / Tk & & fag
(d) I guft

Need of agro and industrial waste as a construction material is
(a) To maintain ecosystem

(b) To conserve the natural resources

(¢) To reduce/control pollution

(d) All of the above (1x10)
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SECTION - B
2. % % 9 P gEFET |

Explain Hooke’s Law.

e afeerde g b1 v ire |

Define point of contra flexure.

e o foTu gy Ufaee faauor s1 afiestr ferfgu |

Write the shear stress distribution equation of beam.

TgEA W 3R GaT 31U i TR |

Explain buckling load and slenderness ratio.

Y % I ST RIS gt 1 TR BRI |

Define the angle of twist and torsional rigidity.

FATELT! TR TS H IR I HIT |

Differentiate between force moment and torsion.

Tordt =1 off = 3T TS |

Draw the three phase diagram of soil.

fomtor & Sue <6 S areft wepfren sl 6t afiehd 1

Classify the natural material used in construction.
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13.
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SECTION - C

Draw the mild steel stress-strain curve and explain its important points.

faa-1 ¥ vefdfa yerms o % fofe SFD 9 BMD €472 |

Draw SFD & BMD for the overhanging Beam given in Fig. 1.

40 kN
20 kKN/m

A 5 ) C
4m 2m —

T O

Overhanging Beam

R=-1/Fig. 1

e < FF i i farfiau |

Write the limitation of Euler’s formula.
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TH 5 m T YSress 96 W T UDL, 2 kN/m 1 @ § Riaeh AR S 876

100 mm x 160 mm & 9 100 mm &S 379 8 | 939 H§ 39~ 1Uhas g4 Yfdad 1

T |

Cantilever beam has 5 m span with UDL of 2 kN/m and has rectangular section of

100 mm x 160 mm with 100 mm horizontal dimension. Find the maximum bending

stress developed in beam.

®
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Draw & explain the consistency diagram of soil which represents its liquid limit,
plastic limit and shrinkage limit. 3)

15. 3T SH TTohgl & T ferfae |

Write down the properties of good timber. 3
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